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LanguageRecy : Ente Power([iss)
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T = [p- Epsi) 4 Language desy(pl]
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So what ?
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Ihm :
If & ! S - Power(s)

,

them

T = (s-5/sf(x]↳is not in Imagelf) ,
i
.

e
. there

is no toS such that f(t)=% .

-

Special cuse !

LanguageRecBy
: Eps

-> Power (Sess)

Ess)Langungeney(t]



them T is not in the image

of LanguageResBy ·

k

We say that
La Esit

is

rizable if it is in the

image of LanguageRecBy ,

-
gnizable if not S

-

Pf as Camber's The : Say for some
-

-S
,

f(t) = T -

Then either

t - T
,
ar + 4 T



Say that

T= 45 -S/s}
and

⑰ then : + 6f(t)

but f(t)
=T

,
so +4f(t)

=T

:
contradiction !
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Similarly HT so te fit)=
-
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So Cantar's Thm X
- StLE

./ Pe LangaugeRacyp13is not recognizable
Sunrecognizablel .

-
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Say Hart-AcepTrs

Spri : Languagelecy(plY

Eprai) P does not accept in
-

does not return ."Yes



Im : As ACCEPTACO is

unrecognisable ·

#Say that it were , i
.

e
,

some algorithm recognises

101 - ACCEPTA CA
.

Them i

giver P ~Ericss
-

write down prop
feed into 101-epTit

as a substractive ,
then we know if

P
* LanguageRecy(p) , solver GROUCISOMARX

[T


